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@ y=-x>+3x

O y=x(x-3)+1

®y=2x+1

® y=1-2x2



@ 2 3 3 @ 4 B 5

1



P48 &

o
°

4.

A7F?

TR EO

@ 109 G 129

® 84

Bo

@ 6

D49



5. Ul toli SA10] tol ik 5 AL B, 54 tolo] ARy o] o]
2l T 2 4F0] K ) 1 Lol 2 7ot

@ 74+ @ 8§4F B} 94F @ 104F G 114



i tll-l‘

Mo o

v

o

2

lo

il rlr

(201 —
24L&

BHH 2%
20m & £8o 2
Aohg

zoled 2] @ 2 Tolz|

=

—{o[.

ﬂ)m ot} B&
A l““"‘]7} ;qg Eﬂg 1% F9
= 15m 7}- 1:41_



Eg|2] do|7} 32em ©], Hol7F 56em? ¢l ZARZE
Exgtdd 45 33%74%?

® x(32-x) =56 @
® x(32-x) =28

x(16 — x) = 28

@ x(16 — x) = 56
® x(32-x) =112
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